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Time : 3 Hours Max. Marks : 30

Note : This paper is of thirty (30) marks containing three
(3) sections A, B, and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Note : Section ‘A’ contains four (04) long answer type

questions of seven and half 7% marks each.

Learners are required to answer two (02) questions
only.
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What is Pollution ? Give a detailed account of various
causes of air pollution and their effect on the animals.
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What is an Ecosystem ? What are its components ?
Describe them in brief.
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What are the ecological pyramids ? Discuss different
kinds of ecological pyrmids.
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What do you understand by ecological succession or
biotic succession ? Describe various kinds of
ecological succession.
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Section-B / Yis—g

(Short Answer Type Questions) / (79 ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
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questions of two and half 2% marks each.

Learners are required to answer four (04) questions
only.
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1. Give a brief account of Liebig-Blackmann’s Law of
minimum.
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2. Differentiate between food chain and food web with
example.
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3. Describe water cycle.
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4. Discuss growth curves with special reference to human
population.
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5.  Write a note on ecotone and edge effect.
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6. Describe causes of depletion of ozone layer.
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7. Write a note on Autoecology and Synecology.
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What is the difference between Sanctuary and
National parks ?
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Section-C / YUs—T
(Objective Type Questions) / (@& J)

Note : Section ‘C’ contains ten (10) objective type
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questions of half % mark each. All the questions

of this section are compulsory.
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Define Pedology.
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Define Symbiosis.
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What was the old name of Corbett National Park ?
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According to WHO (World Health Organisation)

prescribed optimum noise level is .......... dB by day.
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Silent valley is located in ............ :
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Define Eutrophication.
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The word Ecosystem was first coined by :
(@ Linnaeus

(b) W. Harvey

() R.Mishra

(d) Tansley
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Ultraviolet radiations from sunlight cause a reaction
which produces :

(@ Os

(b) CO

(c) SO,

(d) CH,
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A high density of Tiger population in an area can result
in:
(@) Interspecific competition
(b) Predation on one another
(c) Mutualism
(d) Intraspecific comptition
foxl & # 99 @ e & G '@ & uRumm
WY BT
(31) arTeIfo e
(@) TH AN BT AT
(@) wEHERA
() oIty et

Succession word was first coined by :
(@) Tansley

(b) Hult

(c) Karmonly

(d) Hodges
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